Further Maths GCSE
Functions Questions
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The graph of y = f(x) is a straight line.

5
1"

The domain of f(x)is 1 <x

<
The range of f(x) is 3 < f(x) <

Work out one possible expression for f(x) .
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f(x)=3x-5 for all values of x.

Solve f(x2) =43
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A sketch of y =g(x) for domain 0 <x < 8 is shown.

The graph is symmetrical about x = 4
The range of g(x) is 0 <g(x) <12

Work out the function g(x) .
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A function f(x) is defined as

f(x) =4
:xz
=12 —4x

Draw the graph of y="f(x) for

x< =2
—2<x<2

x>2
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A cubic function f(x) has domain -4 <x <4

The curve y =f(x)
¢ has a minimum point at (-2, 0)
* has a maximum point at (1, 4)
* meets the x-axis at (4, 0).

Sketch the graph of y =f(x) on these axes.
Label any points where the graph meets the x-axis.
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f(x) =10 —x2 for all values of x.

g(x) = (x +2a)(x +3) for all values of x.

Circle the correct value of f(—4)

26 —6 36 16

Write down the range of f(x) .

196
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g(0) =24

Show that a =4
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Hence solve
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A function f(x) is defined as

f(x) =3x O<x<1
=3 1<x<3
=12-3x 3<x<4

Calculate the area enclosed by the graph of y = f(x) and the x-axis.
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f(n):anrn

Show that  f(n+1)—f(n)=2n+2
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A cubic function f(x) has domain all values of x.

The curve y=f(x) has two stationary points.

There is a minimum point at (-2, 1).

There is a maximum point at (2, 5).

Sketch the graph of y =f(x) on these axes.
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a(x) = ¥ +3x2  for all values of x.

Show that g(3x) = foc? (x+1) where kis an integer.
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y =f(x) is a continuous graph.

[}

dy
dx

When0 < x<3 2 and this part of the graph passes through (2, 1).
dy _

When3 < x<5 - =0
dx

When5<x<8 =4
dx

Draw the graph of y=f(x) for 0 < x < 8
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A function f(x) is defined as

f(x) =x+3 -3<x<0
=3 0<x<1
=5-2x 1<x<2

Draw the graph of y=f(x) for -3<x<2




